P

4 | 3 . 2 1
BRAND MODEL SHEET: REVISIONS
CLOPAY | 904, 904U, AX, AXU THIS PRODUCT COMPLIES WITH THE 2018 1BC/IRC. 1 OF 4 [Rev. NO.| ZONE: | DATE: | ECN NO.|APPVD: DESCRIPTION
IDEAL C4AL, C4ALU ::% @]:[?: 00 10/22 JDW INITIAL RELEASE
S P
’ D
* O] 2" x 2" x 1/8" ALUMINUM
N 1 SECTION 2 — 2 ANGLE ON TOP SECTION AND
' N CENTER STILES FASTENED TO RAILS BOTTOM OF BOTTOM SECTION
= \ \\ N WITH FULL LENGTH 1/4" DIA. THREADED ATTACHED WITH (1)
N 3 N "|_ ’1‘ STEEL RODS AND FLANGE NUTS. 1/4"x3/4" SELF-TAPPING
S . +—H—-\ & . : | [ SCREW PER STILE LOCATION.
ro g =
L & ; l - E 7 R SECTION 1 1
@ .. ‘ N\ AN ! f ADUSTABLE TOP ROLLER BRACKET
- = \ l ) 5 3 3 == ) OF 12 GA. GALV. §T§EL , e
™ FASTENED WITH (4) #14 x 5/8"
cE A X \ \ \ < :“ A A ||\. { ST WL SCREWS, "
'— ] —
o L N N A
Lul TWO
n x
48 LN POINT = |
<A - | \ LOCKING.
Z ><. umﬂ N \ \\ " {
9 <C » \\ \ C
E s \\\\ \\ CENTE INGES E | N PA 4 LAMINA-TED GLASS (SEE "GLAZING
a ATTACHED TO INTERM. BOTTOM RAIL WITH DETAILS GH PAGE| 2 FOR REIAIS)
< - (2) #14x5/8” SMS AND TO FIN ON
i \ ﬂ \ INTERM. TOP RAIL WITH (2) 1/4-20x1" SHORT-STEM NYLON TIRE
N Ny < \N HEX HEAD MACHINE SCREWS AND NUTS. 10 BALL ROLLERS.
2’'Xe*X1/8* ALUMINUM \
L-ANGLE., TOP OF EACH . - SECTIONS PER DOOR HEIGHT

SECTION, PLUS ONE EXTRA
AT BOTTOM OF DOOR.

NUTS.

: *'!'
S S B v
% MARK WESTERFIELD é
b 91513

DESIGN ENGINEER:
MARK WESTERFIELD, P.E.

FLORIDA P.E. #48495, NC

_i -1
MAXIMUM WIDTH: 92*

MAX. DLO: 47-5/8" X 18-1/4"

SECTION 3-—3

OPTIONAL 1" OVERLAP BOTH

END STILES FASTENED
TO RAILS WITH FULL
LENGTH 1/4" STEEL
RODS AND FLANGE

SIDES (NOT SHOWN).

\\\\\\\\\\\\\\

INTERGAL FIN ON
INTER. TOP RAILS
NOTCH CUT AT
END STILES.

P.E. #23832, TEXAS P.E. #91513

/7/16" PUSH—NUT,
ONE PER ROLLER.

>

SEE PAGE 2 FOR
DIFFERENT JAMB
CONFIGURATIDONS,

—_— ]

MAXIMUM OPENING SIZE 9°0*

1/4"x3/4" SELF
TAPPING” SCREWS.

12 GA. GALV. STEEL TRACK
BRACKET FASTENED TO WOOD
JAMB WITH ONE 5/16"x1-5/8"
WOOD LAG SCREW PER BRACKET.

14 GA. ROLLER HINGES ATTACHED

,‘_

UP TO 60" 3 WITH (4) #14x5/8" SMS ALONG
CENTER OF EACH HINGE AND (4)
FROM 6’1" TO 80" 4 1/4"x3/4" SELF TAPPING SCREWS
FROM 81" T0 10'0" =) 2"x2"x1/8" L-ANGLE REINFORCEMENT,
FROM 10'1" TO 120" 6 (1) ATTACHED TO EACH INTREGAL
TOP RAIL FIN, WITH (2) 1/4" HEX
FROM 121" TO 14'0" 7 BOLTS AND FLANGE NUTS AT EACH
— - INTERMEDIATE HINGE LOCATION, AND
FROM 141 TO 160 g (2) 3/8 BOLTS AND NUTS, (1) AT | 13
FROM 16'1" TO 18'0" 9 EACH END OF THE L—ANGLE.
FROM 181" TO 20'0" 10 BOTTOM ROLLER BRACKET
OF 11 GA. GALV. STEEL,
FASTENED WITH (4) #14 x
DOORS UP TO 4’8" SHALL HAVE (1) 5/8" SHEET METAL
PANEL; DOORS 4’9" TO 9'2" SHALL SCREWS.
HAVE AT LEAST (2) PANELS PER
SECTION.
BOTTOM SECTION USES A I
TEMPERED ALUMINUM EXTRUSION
WITH INTEGRAL RETAINER FOR FOR
INSTALLATION OF FLEXIBLE VINYL
ASTRAGAL. SEE PAGE 4.
L?N8€UISAESTE31EI§|ESR \ FLEXIBLE VINYL ASTRAGAL.
#14x5/8" SHEET DESIGN LOADS +520, —580 PSF A
METAL SCREWS. 8585 Duke Boulevard CLOPAY WINDLOAD RATING
& Clapay L EEE | 02
KgPﬁédfscsé%vss CORPORATION Fax No. 313-770-4853
: DESCRIPTION:  M/N 904 9' WIDE +52/-58 PSF
#14x5/8” SHEET DRAWN BY: JDW DATE: 10/10/22 SCALE: DWG.
METAL SCREWS. CHECKED BY: JDW | DATE: 10/10/22| SHEET 1 OF 4 |SIZE
DWG. NO.: 105611 VERSION: TDI

4

A

2



4

BRAND MODEL

CLOPAY | 904, 904U, AX, AXU

IDEAL | C4AL, C4ALU

GLASS BITE ALL
(4) SIDES

ARK WESTERFIELD

" :0_... 0-19--1-:‘:_;:1-:-3-0------::.

DESIGN ENGINEER:
MARK WESTERFIELD, P.E.

1/4" THREADED ROD THUR STILES —
AND 1/4" FLANGE NUT AT RAILS

SEAL BOND 100 ADHESIVE =
(4) SIDES AROUND PERIMETER

5/8" LAMINATED —

INTERMEDIATE TOP RAIL
WITH INTREGAL FIN

[~—— NOMINAL 5/16" LAMINATED
, GLASS. TWO LAYERS DSB
ANNEALED GLASS & 0.090"
KURARAY INTERLAYER

/
)

\

INTERMEDIATE BOTTOM RAIL

GLAZING DETAIL
INTERMEDIATE SECTION SHOWN

FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513

2"x2"x1/8" ALUMINUM
L—-ANGLE (SEE PAGE 1
FOR ATTACHMENT DETAILS)

/COMPOSITE SNAP—IN BEAD ALL (4) SIDES OF PANEL

#10x1—-1/2" HEX HEAD SELF—TAPPING
SCREWS INTO SNAP—IN BEAD AND ALUMINUM
FRAME. SCREWS NOT TO EXCEED 12" CENTERS

SHEET!

REVISIONS

2 OF 4 [Rev. N

0.| ZONE: | DATE: ECN NO.| APPVD:

DESCRIPTION

SEE PAGE 1 FOR REVISION DETAILS

HORIZONTAL (TOP) JAMB
7 /_ (NO LOAD FROM DOOR) [
AN

JAMB TO SUPPORTING STRUCTURE ATTACHMENT

NOTES:

o=t (L
\\

FASTENER
TYPE

FLUSH MOUNTING SURFACE.

MAX.

. PREPARATION OF JAMBS BY

OTHERS

/— 2x6 VERTICAL JAMB \
/

NOTE: THE DESIGN OF THE SUPPORTING STRUCTURAL ELEMENTS SHALL
BE THE RESPONSIBILITY OF THE PROFESSIONAL OF RECORD FOR THE
BUILDING OR STRUCTURE AND IN ACCORDANCE WITH CURRENT BUILDING
CODES FOR THE LOADS LISTED ON THIS DRAWING.

2x6 JAMB TO SUPPORTING STRUCTURE ATTACHMENT
(NOT TO BE USED FOR ATTACHMENT OF TRACK ANGLE TO 2x6 VERTICAL JAMBS OR SUPPORTING STRUCTURE)
MAXIMUM
ON—CENTER
DISTANCE  |STEEL
BETWEEN _ IWASHERS
BUILDING TYPE FASTENER TYPE FASTENERS " |REQUIRED?
BLOCK WALL %" x 1—%4" EMBED ULTRACON CONCRETE ANCHOR 7" NO
GROUT—FILLED BLOCK WALL |%" x 1—3/4" EMBED ULTRACON CONCRETE ANCHOR 11-3/4__|NO
2.846 PS| MIN. CONCRETE 4" x 1-3/4" EMBED ULTRACON CONCRETE ANCHOR 24" NO
2,000 PS| MIN. CONCRETE |%4" x 1—3/4" EMBED ULTRACON CONCRETE ANCHOR 22-1/2" [NO
2.500 PS| MIN. CONCRETE "% 1-3/4" ITH SYP 055 SG  [22-1/4" [1 O..
W i P %" x 1-1/2" EM REW WITH 1-3/8" SHER 24" YES
114 GA MIN, STEEL JAMB %" —14 ITW BUILDEX TEKS SELF—DRILLING FASTENER 12=1/4" |NO
112 GA MIN, STEEL JAMB %” —14 ITW BUILDEX TEKS SELF—DRILLING FASTENER 17" NO
[1/8" MIN, STEEL JAMB %" —14 ITW BUILDEX TEKS SELF—DRILLING FASTENER 20—-1/4" |NO

NOTE: FOR DOORS WITH CONTINUOUS OR REVERSE ANGLE TRACK, THESE

VALUES CAN BE USED TO DIRECTLY ATTACH THE TRACK TO THE WALL.

* FIRST (BOTTOM) ANCHOR STARTING AT NO MORE THAN HALF OF THE MAXIMUM ON-CENTER DISTANCE. HIGHEST ANCHOR INSTALLED
AT LEAST AS HIGH AS THE DOOR OPENING.

CLOPAY DOES NOT SUPPLY

JAMB ATTACHMENT FASTENERS.

MINIMUM DISTANCE BETWEEN CENTER OF ANCHOR AND EDGE OF CONCRETE BLOCK: 2-1/2"", EXCLUDING STUCCO THICKNESS.

7. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE TRACK AND THEN FROM THE TRACK TO
B THE 2x6 VERTICAL SYP (GRADE #2 OR BETTER) JAMBS. NO LOAD FROM THE DOOR IS

TRANSFERRED TO THE HORIZONTAL (TOP) JAMB.
2. EACH VERTICAL JAMB SEES A MAXIMUM DESIGN LOAD OF +234 LB. PER LINEAR FOOT OF JAMB.
3. ALL JAMB FASTENERS MAY BE (BUT ARE NOT REQUIRED TO BE) COUNTERSUNK TO PROVIDE A

4. A 1/3 STRESS INCREASE FOR WIND LOAD WAS NOT USED IN THE CALCULATION OF ALLOWABLE
LOADS FOR ANCHORS AND FASTENERS FOR STEEL, CONCRETE AND MASONRY.

== Clopay’

CORPORATION

8585 Duke Boulevard
Mason, OH 45040 USA
Tel. No. 513-770-4800
Fax No. 513-770-4853

W8

CLOPAY WINDLOAD RATING

DESCRIPTION: M/N 904 9" WIDE +52/-58 PSF

DRAWN BY: JOW DATE: 10/10/22] SCALE: DWG.
CHECKED BY: JDW DATE: 10/10/22|SHEET 2 OF 4 [SIZE
DWG. NO.: 105611 VERSION: TDI

4




BRAND MODEL SHEET REVISIONS
CLOPAY | 904, 904U, AX, AXU 3 OF 4 [Rev. NO.[ ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
IDEAL | C4AL, C4ALU _ _ - - - SEE PAGE 1 FOR REVISION DETAILS
NOTE: HORIZONTAL TRACK
CONFIGURATION ABOVE THE DOOR
OPENING DOES NOT AFFECT THE WIND o= o
2" TRACK CONFIGURATION LOAD RATING OF THIS DOOR. HORIZONTAL TRACK HANG
REQUIRED FOR BY DOOR INSTALLER
w3 DOORS OVER 12 /- (SEE PAGE 4 FOR
7 DOOR COUNTERBALANCE TGFI-(')R(SIEETSCSE DETAILS). JAMB CONFIGURATION
A SYSTEM : - L] [Boor | DOORS WITH 2" TRACK.
W% HEIGHT | "L
7 13 GA GALV.( §TE|;L FLAG BRA}:KET ATTACHED TO 5-6"] 707
] JAMB WITH (3) 5/16" X 1-5/8" LAG SCREWS R .
E 8-0"] 88" 2x6 SYP WOOD JAMB. SEE OPTIONAL STOP MOULDING BY INSTALLER (TO SUIT).
§ AS RQD: SPACING NTE 14" O.C. g,:g, 138, JAMB PREPARATION NOTE®, SEE SHEET ONE FOR END STILE AND SECTION CONFIGURATION.
x 9"—6"[106" . ,
" 10=0"[112" -
o] 2" GALV. STEEL TRACK )
e | 10'—6"118" 2-1/2" X 12 GA GALV. STEEL—__ $
I TRACK. THICKNESS: 0.083;, 11=0"[124" TRACK BRACKETS FASTENED 10 [
— 116" 130" WOOD JAMBS WITH 5/6" X yh 5= | 51 FOUND
) 12'—0"[136" 1-5/8" LAG SCREWS NOT TO pﬁsH NUT SEE SHEET ONE FOR GENTER
] 12'—6"|142" EXCEED 14" ON—CENTER. FASTENER. HINGE CONFIGURATION.
TYP. 2-1/2" X 12 GA GALV. 13'-0"[148" "
S STEEL TR»{CK BRACKETS, 13—6"[154" 14 GA. GALV. STEEL ROLLER HINGES FASTENED TO END STILES W/(4) EACH #14x5/8
z ATTACHED TO JAMB WITH (1) 14'—0"|160" SHEET METAL SCREWS AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE.
o 5/16" X 1-5/8" LAG SCREW PER 14 —6"|166" 2" GALV. STEEL TRACK FASTENED TO
TRACK BRACKET. 150" [172" 12 GA GALV STEEL TRACK BRACKETS i % NYLON TIRE
15 —6"|178" WITH EITHER (2) 1/4” DIA. RIVETS OR 2" DIA. SHORT STEM, 10 BALL STEEL ROLLER WITH STEEL O s
16'—0"|184" (1) 1/4" X 5/8" BOLT & NUT PER -
TRACK BRACKET. =
LHR BRACKET (2-1/2" x 5-3/4" x 12GA)
Y OTHERS. ATTACHED WITH (2) 1/4" x 3/4" SELF TAPPING
SCREWS. NOTE THAT LHR BRACKETS ARE ALSO
NOTE: HORIZONTAL TRACK CONFIGURATION NaTE T, DONBLE END STILET AS SHOWN N
" TRACK CONEIGURATION ABOVE THE DOOR OPENING DOES NOT AFFECT *
3 NFIGURATI THE WIND LOAD RATING OF THIS DOOR. JAMB CONFIGURATION
CENTER HANG REQUIRED FOR R ” 0 M_OPTION
DOORS OVER 12" HIGH (SEE (AVAIL. FOR BOTH 2" AND 3" TRACK)
PAGE 4 FOR DETAILS).
H/ ) DOUBLE HORIZONTAL
. o OPTIONAL 1" DOOR OVERLAP (EACH SIDE) — TRACK,
246 SYP WOOD JAMB. SEE STOP MOULDING BY DOOR INSTALLER (TO SUIT).
3" GALV. TAPERED STEEL TRACK AND ANGLE. TRACK "JAMB PREPARATION NOTE". SEE SHEET ONE FOR END STILE AND SECTION CONFIGURATION.
THICKNESS: 0.101". ANGLE THICKNESS: 0.080". HORIZONTAL TRACK
MIN. ANGLE DIMENSIONS 3—1/4" x 2—7/8". HANG BY DOOR "
g VERTICAL/HORIZONTAL TRACK g ISTAITER (SERSPIGE e '
/ \. 14 MAXIMUM SPACING 4 FoR DETAILS).  3-1/4" x 2-7/8" MIN. x 0.080" TAPERED 3
- JUNCTION. TWO 1/4" BOLTS |—— FROM LAST MOUNTING
E ANGLE. SEE LAG BOLT MOUNTING AT TRACK , |
& & NUTS FOR EACH TRACK. SLOT TO TRACK JUNCTION BN ClRATON] BEIDN .
NNy o s} : 7/16" 1.D. ROUND
SEEI, T
:CJ«E:.---"""---.,‘:?@I.. o N ADDITIONAL MOUNTING SLOTS FASTENER. GliCE £0 Alloh
s * *'a' 3 Pl 21 CEHTERS. 0.101" THICK 3" GALV. STEEL TRACK FASTENED 14 GA GALV. STEEL ROLLER HINGES FASTENED TO END
7 x: L xY 0 TO TAPERED ANGLE. TRACK ATTACHED TO STILE&(? ;N/(/4) EACH #14x5/8 S:EET METAL SCREWSE
A A I L L 12" ON CENTER TAPERED ANGLE WITH ONE 1/4"x5/8" BOLT & AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE.
% MARK WESTERFIELD 2 T . NUT AT EACH MOUNTING SLOT.
909513 i 7 S 46 "
R ; o 3" DIA. SHORT STEM BALL BEARING STEEL ROLLER.
o SECTION C-C
-4 »
E " NE. %" TRACK BOLT AND NUT AT EACH PREPARATION OF JA
@ 34 MOUNTING SLOT LOCATION. SPARATION. OF JAMB5 BY UiHERS.
5 (B
DOOR | VERTICAL " "
" ONE 5/16" x 1-5/8" LAG SCREW SPACED AT e 8585 Duke Boulevard CLOPAY WINDLOAD RATING
e el TRACK. LENGTH THE SAME DISTANCES AS THE TRACK BOLTS (L.E. == Clopay Mason, OH 43040 Ush \/\/ 8
fofinfzal 10 o 4 ) Roomon conporson 1% 1t 511 7e-uy
. oL 8" AT 18", R > -
10 2 -Bo 908” BOTTOM. TWO LAG SCREWS ALSO LOCATED DESCRIPTION: M/N 904 9" WIDE +52/-58 PSF
- i:_g' gg" ABOVE VERTICAL/HORIZONTAL TRACK JUNCTION. DRAWN BY: JOW DATE: 10/10/22 SCALE: DWG.
DESIGN ENGINEER: S I i §=0 180" CHECKED BY: JOW  |DATE: 10/10/22 SHEET 3 OF 4 [SIZE
MARK WESTERFIELD, P.E. ~  777777mmz . e
FLORIDA P.E. #48495 NC P.E. #23832, TEXAS P.E. #91513 DWG. NO.: 105611 VERSION:

4

A




oo B ALUMINUM PROFILES, HARDWARE & TRACK PARTS| 4" ASIELE
CLOPAY | 904, 904U, AX, AXU : 4 OF 4 [Rev. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
IDEAL | C4AL, C4ALU _— s — — - SEE PAGE 1 FOR REVISION DETAILS
I 4,00 7-1/72* (2* LONG STEM)
—[-_ 2125 — ‘ I R T e NYLON TIRE @* TRACK)
1 (L J STEEL TIRE <3 TRACK) | 2-1/16 |
| f @ 5 7/16° DIA. 1-13/16* DIA. (@° TRACK)
D - T @ 2125 [STEEL SHAFT 2-13/16° DIA, (3" TRACK) D
J_ G " =]
" ) == 4
* 3.812 = —! I— 1/72* (2° ROLLER) 281 DIA. (4)
4.50 | I—a.sas—l 0 W 3/4° (3" ROLLER>
( e 0 ACK_(SHOWN 1 R_HINGE
o CENTER STILE ROLLER FOR 3" TRACK FOR DOORS OVER 800 LB. 14 GA. GALV. STEEL
3 105011 — .075" WALL @ BOTTOM _BRACKET ROLLER CARRIER R opTIONAL FOR DOORS LESS THAN 800 LB. S
< 0 2-5/16” WIDE x 2-1/2" TALL
— e—l_ N o 12 GA. GALV. STEEL (0.097" THICK) .
105008 — .075”" WALL = r | BOTTOM BRACKET | .
*DOORS WITH 17 JAMB OVERLAP THESE L .o L 3—-1/8" WIDE x 6" TALL x 1-7/8" DEEP 1" (2%
END STILE DIMENSIONS ARE 1° LONGER O G 0.100 11 GA. GALV. STEEL (0.1 14" TH|CK)
(5.50 & 4.812) g Jl—‘—L |1—5/s" " ,
C —_ 3/4"
2425 = ROLLER CARRIER ) 2rd TUBE FOR
= [——a1es— #2 AND HIGHER
c , > 4,000 y 1-s/8" (27) HINGES C
= INTER. TOP RAIL_W/FIN e 216" (2%
225 L:[a % 105012 — .062" WALL ALY Y \
L _[ < T3 _F0360 7-1/4 @
INTER. BOTTOM RAIL bR )
- .RA BOTTOM ASTRAGAL RETAINER
HOSOTH =062~ WALL 100624 — .050" WALL
e 3 END_ROLLER HINGE
14 GA. (0.071" MIN) GALV. STEEL.‘_
(2> 5716 DIA, X 5/8 LG. B ” (8) 1/4 X 3/4" SELF—
CARRIAGE BOLT AND hUT 0.075" OR 0.083" GALV. STEEL (2") TAPPING SCREWS PER HINGE
TOP ROLLER BRACKET , 0.101" GALV. STEEL (3" :
5-3/8" LONG x 3—1/8" TALL x 2-3/4" WIDE
MAIN PART: 12 GA. GALV STEEL (0.099")
ROLLER CARRIER: 13 GA. GALV STEEL (0.085")
| O B
B [SEE_HANG DETAIL A—A] | —
2 ) o A % DT o
_ T ,
/ CENTER HANG DOOR HANGS TO BE MADE 77555255554545%
/ REQUIRED FOR FROM MINIMUM 13 GAUGE ; ES BY HEIGHT
N, /% DOORS OVER 12' GALV. STEEL PUNCHED OR VARIES BY HEIC
=€ OF Ta\ // DOOR COUNTERBALANCE e UNPUNCHED ANGLE IRON ANCLE_IRON ATTACHMENT 3-1/4 10 6
A AN . i®—— SYSTEM MEASURING AT LEAST o = T
Z Ao ke _ s a 3) MIN. 5/16" X 1—1/2" EMBED
Z o R / = z > = > = 1-1/4" X 1-1/4 DIAGONAL (KNEE) BRACE LAG SCREWS WITH WASHER 37 i
_] z : 7 x (KNEE) 1-7/8
z *: % x4 % ™\ HORIZONTAL TRACK — HORIZONTAL TRACK REQUIRED FOR EACH HANG N o
7~ 3 *f‘ = AND ANGLE ATTACHED TO BACK HANGS (3) MIN. 1/4" x 1-3/4" EMBED l _L
% ‘MARK WESTERFIELD 4 : (OR CENTER HANGS IF " CONCRETE ‘ANCHOR WITH WASHER N : A A
. nh s EREIELL 8 ' REQUIRED) WITH ONE 5/16" 3/8" BOLT AND NUT AT _j
ey 91513 o J TRUSS HEAD BOLT AND NUT %ﬁng\:«GLE IRON NOTE: SCREW EMBEDMENT TO EXCLUDE 0.101 GALV. STEEL (12 GA)
d : STUCCO OR FALSE CEILINGS.
\ HORIZONTAL TRACK WG BeriiL A TRACK_BRACKETS
STANDARD LIFT TRACK SHOWN. e ATTACHED TO VERTICAL TRACKS
COW HEADROOM, HIGH LIFT AND VERTICAL LIFT HANGS CAN BE MOVED TO MATCH CEILING STRUCTURE
TRACK ALSO AVAILABLE. A
A a o 8585 Duke Boulevard CLOPAY WINDLOAD RATING
Mason, OH 45040 USA
m Glopay Tel. No. 513-770-4800 W 8
CORPORATION  Fox No. 513-770-4853
DESCRIPTION: M/N 904 9’ WIDE +52/-58 PSF
DRAWN BY: JDW DATE: 10/10/22 SCALE: DWG.
DESIGN ENGINEER: CHECKED BY: JOW | DATE: 10/10/22| SHEET 4 OF 4 |SIZE
MARK WESTERFIELD, P.E. :
FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513 DWG. NO.: 105611 VERSION: DI

4



